EARAROBEEIERT — 2 N— IBISH —F

201858140 (K) 9EIFIRI4E

m9—7 Ch2 (hRWBE) H7%R2EOP \ (xi] 2 \ (Eamml — | & (B) 1200 &
[A&4] 1 7 :2,000,000  ~ 2 3 :400,000 M 33 :300,000 .~ 4 3#:200,000 ™ . 5 37 :100,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R AR . _ — HEsE (dbimE
1 REEGCEDE B2 54_3&% 1.(1_5).4 1-1 40.2 3 :1:‘2) gggﬁ( Hil)
R:Z2Gr T hF—=Ty7—K—=FK B:TL>R)—vF— HET77— L
s ZHTHEA :15. = . - AISEE (dtes)
2l111 | TLA—21>a7 ot 2 54.0 1(,1\57L;1 3 .9 ! ?f:) KEE i
L2911 T v F—F7—K—K B:ILF-3IFT) hilkse
N _ N EBEZ . — — JNBH#AN (GtimE
sl 6| 7E—UTXF4T A (17;15?;1) ¥ s ! :if) A T EpRsTE .
R:d—ILkAMO— B:l—v—K&1Y BHR&H KMEXT-T0
- # o2 | AllE 1:15.4 6-6 39.7| — 4 468 | KA (i)
4|89 | N—F—RTv7 54.0 (74=) 4 | A g T
LRy T b A—Tr—K— K BFLIAHF SR ERYS
i 4 2 | FLEERE 1:15.6 8-7 39.3| — 9 480 | R EIEFD (dbimE)
EE o|d—=ay A 5420 (38 o | B HETr—L
L:a—LisL4a B RNS2H— HET7— L
. g \ #o2 | WARAEE 1:15.6 33 |40.2| — | 6 | 478 |HEFEE (timE)
6lglg| ¥y o¥®vUN— 54.0 (75%) vo) |EBE=B
LY ELNTy T B:TOIXT HpZX &y K
= S i o2 | BEXT 1:17.2 4-5 N7 - 8 502 | AIIEH (LiEE)
7155 = 54.0 (8) ) (B) £ 77— L
L:hzxex) B:YyinAOvy HET7—L
2 - = 4 2 | BIEREE :17.2 1-1 20| — 5 432 | AIEH (AtiEE)
s E17EL=F4— 540 A o) | B 32— §iE=rrn
R:759v 784K B:EaT7Y>T4=— L ie]
— AR & : — — EfE# (eimE
ol7|7|vam st rya o2 EtH 1.(158).2 6-8 42.5 2 :546) g Bl
LHIRT A TTR BAAET R a— SR
® I—F—@EBIERL
13—-7-
23—7F—
33—F— (3,4).8,(1,5),(7,9),2,6
43—+ — (3,4),(1,8),5,9,2,7,6
[ RN
B 3 930M 794K 1-3 270M & 1-3 580 &R 1-3-6 1,940M
# B 3 190M 3-6 1,420H B E =8 430 EE 3-1-6 15,6804
1 1004 1-6 360M B H 3-1 2,170
6 210M

ABICOVWTRDTEEERROODE. TR LIV,




